RMV 2 JP

, - v
Vyukové centrum HlusSice 2024/25
1. 2. 3. 4. [5. [s. 7. 8.
PONDELI 7,50-8,35 8,35-9,30 9,45-10,30 10,40-11,25 11,40-12,25 |12,25-12,45 |12,45-13,30 13,40-14,25 14,35-15,20
1.ABN TD 1 SMV 1 SMV 2
2.AA KT 1 KT 2 OPD 1 SMV 1 SMV 2 MAT 1 OPD 2 VOLNO
3.ABN SMV 1 SMV 2 OPD 1 OPD 2 EKP 1
1.ZA ST1 ANGJ 1 ANGJ 2 ZSZ 1 7SZ 2 KT 1 KT 2 VOLNO
2.ZB TV1 TV 2 SMV 1 SMV 2 ELT 1 VOLNO
3.ZA ZZV 1 SMV 1 MAT 1 SMV 2 7SZ 1 DZT 1 DZT 2
1.DT 0CJ 1 CJ1 LV1 TV1 TV2 [=] VOLNO
1.0ZT 0OCJ 1 CJ1 LV 1 TV 1 TV2 VOLNO
1TP CJ1 LV1 TV 1 TV 2 TP 1 TP 2 VOLNO
2.LT J1 ANGJ 1 ANGJ 2 €] DPR 1 DPR 2 VOLNO
2.0ZT CJ1 ANGJ 1 ANGJ 2 VOLNO
2.TP CJ1 TP 1 ANGJ 1 ANGJ 2 HYGS 1 HYGS 2 VOLNO
UTERY 750835 |8459,30 |9,45-10,30 10,40-11,25  |11,40-12,25 |12,25-1245 |12,45-13,30  |13,40-14,25 |14,35-15,20
1ABN __ [ID2 SMV 3 SMV 4 R v 1 @ |1tvi TV2 VOLNO
2.AA MAT 2 MAT 3 OPD 3 ELT 1 ELT 2 OPD 4 VOLNO
TRD 1 TRD 2
3.ABN TV1 TV 2 LV1 OPD 3 OPD 4
TRD 1 TRD 2 TRD 3
1.ZA LV1 TD 1 ANGJ 3 ANGJ 4 ZSV 1 ST 2 ST 3 VOLNO
2.ZB ANGJ1  [ANGJ2 ELT 2 MAT 1 MAT 2 VOLNO
3.ZA 77V 2 CJ2 MAT 2 7SZ 2 SMV 3 LV1 RMV 1LP RMV 2 LP
1.DT TRD 1 TRD 2 TRD 3 STRV 3 STRV 4 2 ELSSMV1 [ELSSMV2 |VOLNO
1.0ZT TZVIMH [TZV2MH [TZV3MH STRV 3 STRV 4 TZZS 1 TZZS 2 VOLNO
1TP TZPV 1 TZPV 2 MAP 1 MAP 2 [=] TZPV3 [TZPV4 TP 3 VOLNO
2LT STRV 1 STRV 2 LT1VR LT 2VR TRD 1 = TRD 2 TRD 3 VOLNO
2.0ZT STRV 2 STRV 3 DZT 1 DZT 2 DZT 3 TZZS 1 TZZS 2 VOLNO
2.TP TZPV 1 TZPV 2 TP 2 TP 3 (=] TZPV3 [TZPV4 MAP 1 MAP 2
STREDA |7,50-8,35 [8,45:9,30 [9,45-10,30 10,40-11,25  |11,40-12,25 [12,25-1245 |12,45-13,30  |13,40-14,25 |14,35-15,20
) KT 1 KT 2 VOLNO
SMV 3 SMV 3 ELT 3 VOLNO
TRD 3 VOLNO
SMV 4 EKP 2
2.ZB ANGJ 3 [ANGJ 4 7ZSZ 1 7SZ 2
v ramci OV v ramci OV
3.ZA KT 1 KT 2 MAT 3 ANGJ 1 ANGJ 2 EKP 1 EKP 2 ZSV 1
1.DT MAT 1 MAT 2 CJ2 =] ANGJ 1 ANGJ 2 VOLNO
1.0ZT MAT 1 MAT 2 CJ2 ANGJ 1 ANGJ 2 VOLNO
17P MAT 1 MAT 2 CJ2 IKT 1 IKT 2 VOLNO
2.LT CJ2 LV 1 MAT 1 EKP 1 LV 2 2 TV 1 TV 2 VOLNO
2.0ZT CJ2 LV 1 MAT 1 EKP 1 LV 2 TV 1 TV 2 VOLNO
2.7P CJ2 LV1 MAT 1 EKP 1 LV2 TV1 TV 2 VOLNO
CTVRTEK|7,50-835 [8,45:9,30 [9,45-10,30 10,40-11,25  |11,40-12,25 [12,25-1245 |12,45-13,30  |13,40-14,25 |14,35-15,20

ELZSMV 2

ELZSMV 3

TD 3 TV1 ZPV 1 ZPV 2
2.ZB 7SZ3 SMV 3 KT 1 IKT 2

v ramci OV v ramci OV v ramci OV
3.ZA ANGJ 3 ANGJ 4 MAT 4 ZSV2 7SZ3 7SZ 4 TV1 TV 2
1.DT MAT 3 MAT 4 CJ3 ANGJ 3 ANGJ 4 5] LV?2 EKP 1 EKP 2
1.0ZT MAT 3 MAT 4 CJ3 ANGJ 3 ANGJ 4 LV?2 EKP 1 EKP 2
1TP MAT 3 MAT 4 CJ3 LV2 EKP 1 EKP 2
2LT STRV 4 KT 1 IKT 2 MAT 2 EKP 2 - SEMMAT2 [SEM MAT2 [VOLNO
2.0ZT STRV 4 KT 1 IKT 2 MAT 2 EKP 2 SEM ANGJ 2 [SEM ANGJ 2 [VOLNO
2.TP VOLNO KT 1 IKT 2 MAT 2 EKP 2 SEM M/AJ SEM M/AJ VOLNO
PATEK |7,50-835 [8,45-9,30 |9,45-10,30 10,40-11,25 11,40-12,25 [12,25-12.45 |12,45-13,30  |13,40-14,25 |14,35-15,20

ELT 1 ELT 2 [=]
EKP 1 EKP 2

3.ABN ZSV1 ZSV2 KT 1 KT 2 RMV 3 JP RMV 4 JP
1.ZA SMV 1 CJ2 ELT 1 ELT 2 SMV 2
2.ZB EKP 1 EKP 2 SMV 4 ZSV 2 RMV 1 DJ RMV 2 DJ
3.ZA DZT 1 DZT 2 LV 2 SMV 4 RMV 3 LP RMV 4 LP
1.DT UP 1 UP 2 UP 3 UP 4 UP5 =
1.0ZT UP 1 UP 2 UP 3 UP 4 UP 5
1TP P = P D =
2.LT UP1VR [UP2VR UP VR UP 4 VR UP 5 VR (=]
2.0ZT UP 1 UP 2 UP 3 UP 4 UP5
2.TP UP 1 UP 2 UP 3 UP 4 UP 5




